Puzzle 11059 - Friday, 26 June, 2015 - Difficulty 3

12| 9 101 1|16 12
8|43 1]|92]|67]|5
éffj:jffffff, i éffj:jffffff,: ‘ ’9’,::1 ‘;67:”::::1;
2171613 |5(81/4]9
%’O’””fffff; k1’2’ii’ :::,}”1’6111 — i % :’g’,iiii‘
9 |15 7)|4|6]8|3]2
%’3’””:::;} 3’1’:’ ffffff,} éffiii[}f::,‘ é’,iiii,,ﬁi::} |
5182|9143 ]|6,7:
;1;::“”17571:1 i’7’iii — i : : i’éii”fffff ,,,,,,,,,,,,,,,
1191467 3]5|2]|38
i ii H 1‘7174:7 = H’G’i: ,iiiii?{é’; ,,,,,,,,,,,,,,
3|6 78 |2 51419 1:
‘1’0’:;: }’,iiiil 1’(’)’;’,’1 : 171767:: ,::::’: : ; T‘Ii?;:"
6121948 |1F7 53
R R N EEE N . R
A4S j2]3j7]9,)8]6
I R T |
713]8[5]6[9]2]1]4

Copyright (c) www.dailykillersudoku.com




